

Rearranging Equations
www.m4ths.com

Make t the subject of each equation.

$$(1) A = \sqrt{\frac{Bm}{t}}$$

$$(6) M = \frac{xtc-r}{mt+p}$$

$$(7) U = t^2 - mrs$$

$$(2) M = \frac{yt-k}{p}$$

$$(8) W = 2\sqrt{t} - mp$$

$$(3) L = \sqrt[3]{Yr - t}$$

$$(9) D = \sqrt[3]{\frac{rm-z}{tp}}$$

$$(4) H = (kjt - p^2)^2$$

$$(10) K = (Xt - Mt)^3$$

$$(5) Y = \left(\frac{y+t}{Mr}\right)^4$$

Rearranging Equations
www.m4ths.com

Make t the subject of each equation.

$$(1) A = \sqrt{\frac{Bm}{t}}$$

$$(6) M = \frac{xtc-r}{mt+p}$$

$$(7) U = t^2 - mrs$$

$$(2) M = \frac{yt-k}{p}$$

$$(8) W = 2\sqrt{t} - mp$$

$$(3) L = \sqrt[3]{Yr - t}$$

$$(9) D = \sqrt[3]{\frac{rm-z}{tp}}$$

$$(4) H = (kjt - p^2)^2$$

$$(10) K = (Xt - Mt)^3$$

$$(5) Y = \left(\frac{y+t}{Mr}\right)^4$$